
Пример записи Дракон-схемы алгоритма с использованием ПРОТОН.

(ЗАГОЛОВОК
   ( ВЫБОР "светофор"
      (ВАРИАНТ "красный" (СОЕДИНЕНИЕ))
      (ВАРИАНТ "зелёный")
      (ВАРИАНТ "иначе")
      (ВАРИАНТ "желтый"
         (ВЫБОР "Выехал на перекрёсток?"

    (ВАРИАНТ "Да")
    (ВАРИАНТ "Нет" (ПРИСОЕДИНЕНИЕ))
 )

      )
     ( ВЫБОР "помеха есть?"
       (
       (

(ВАРИАНТ "Да" (СОЕДИНЕНО
  (ПОЛКА ("снять флаг") ("можно ехать"))    )

        (ВАРИАНТ "Нет" (ПОЛКА ("установить флаг") ("можно ехать")))
       )
       (КОНЕЦ)
       )
     )
   )
)


